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Questioning skill in teaching 1s most useful mn

Se558® (5808 Pidesgo RO JEYHTE ETEDEHH

Options :

Ensuring students' active participation in learning
Trgen &vaﬁéﬁaaﬂéﬁ HHT PSS

Memorizing the facts by students
Sjmvgﬁgﬂn Qediresn rﬁ@&@uﬁémﬂﬁﬁ

Making students diseiplined
Drghe (BEhdgnd” todeelE
ey =

Preparing students for examination
Dergiioi 50505 ot Slowlngdls
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Which one of the following is considered as main sign of motivated teaching?
Bob a0&° (Des 59y08 £ EnE) (Heed Grds

Options :

Most of the students listening carefully

. rersnod doeten (38 dHto
1. % 2o [



Pin drop silence in the classroom
#5158 Kos® 58 dYao

Students asking relevant questions
508 5
ﬁﬁ“&ﬁ@.‘)ﬂl} ro0bes [B3&en estifitio

Students taking notes with interest
Durgiien @d88° DHaren tinsiSEo
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Which one of the following statements 1s correct with regard to nature of multiple - choice
type questions?

ARG B Sowofod Bod B8 EKed® HBEE
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They are more objective than true-false type questions.
e T O o= iy oo g oy
1@ éud:'p 2ualpP @J%&-ugﬁ;‘_ 6}._,.3&3’] @ﬂﬂééu@ﬁm

They are less objective than essay type questions

5 % STERETE (DELES) S5 ogTEEbd

They are more subjective than short-answer type questions.
. O3 JXPHRD (DEO B HEYS eadahghd



They are more subjective than match the following type questions.
2805 (HHOEY) JEYD wE)IcHHH
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Scholastic Achievement tests are commonly used for the purpose of:
Qm‘gﬁ“tﬁéﬁ sﬁég@ﬁj aPEEbEsOrT &ﬁ?ﬁﬁ&ﬁtﬁﬁﬁiﬂﬁ)

Options :

Selecting candidates for a course
Dergtyen AR Bps® (5708 JohE BaHos s

Making selections for a specific job
6% 66%mO8 DohE o
DEs 2l —0

To understand learning outcomes of an academic course
Dory DRHE B @ifid PDered oSrird THEHE08

Identifying strengths and weaknesses of learners
&ﬁa}ﬂéﬁfoﬁ: meren, notESdo ."{J@noiﬁmﬂﬁﬁ
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Which of the following 1s not a characteristic of Continuous and Comprehensive

Evaluation?
B8° DBosE HHN Sregosto ofpo =06 I6?

Options :

It increases the workload on students

1 & =T amﬂgtﬁgm_@ wrerto Dochéhod

It reduces theoretical testing
REEOHEDHEN 2850 latniela

2. %

It evaluates every aspect of the students.

DEsteH Ho00H0dH ©f) ®odre reroddo Dasnid
5 x DTSR @ D S

It helps in reducing examination phobia.

ﬁ@gﬂh ﬁcﬁw?ﬁ ERoStod? Siirshthdod
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The research that meant for immediate application 1s
Sobd DO@rACSTOE DB H68°%5HS Bko
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Experimental research
e o whe of
o [BSRrrrE)E D6<5°5H



Action research

5 iﬁm@é@lﬁ Hegias

Fundamental research
|ErEnE B8 Sirenbsies

SHI'VE}" research
50 H08%ss
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Sampling error decreases with the
E&Sah &%ard) ShodeRl

Options :

decrease in sample size
[B&SchHS HBreT=R) Shodto

merease in sample size
(28BS Hh&EreEd)) Dodtio

process of randomization
dEreying (@I8ch

process of analysis
DBes (H(BaH
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The variable which impacts the relationship between an independent variable and a

dependent variable 1s known as
ol ba HbBoE Soredl e HoaogeR) [HeEdso T SETER DEot?

Options :

antecedent vanable
o@fhcot] SEted

precedent variable
(@hEots Stoed

predictor variable
BELE S50-8

mtervening variable
soeigy) s8-8
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Which of the following sampling methods 1s not based on probability?
(Bo& T2 O 538335050 ﬁigi«i RogrgERe 2 ot Gofth?
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Options :

Systematic Sampling
Bahdgs He @HSSdhism

Stratified Sampling
(08 (H8Sabssin
“

Quota Sampling

3 ¢ B (N&TcHSSD

Cluster Sampling
HE0)oH (BHEBHEED
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A hypothesis 1s
a8 585

Options :

A proven statement for an argument.
a8 S Somohod) Drses e ant

1. %
A statement which 1s not required to be tested.
5 5080 ©5Ho B [HBFES



A tentative statement which 1s to be tested.
5080w D)% sremDBo (HBFS

A Scientific statement.
FRCHTD (DBTFSS
4. %

Sub-Section Number : 3
Sub-Section Id : 2702821177
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 27028216038 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

The air crash of Tathoku took place on August 18. 1945 at a time when aircraft were not the
most reliable form of transport. During World War II dozens of crashes took place which
altered the course of the war. What, however, was special about the air crash in Tathoku was
that 1t coincided with the defeat of Japan in war. The outcome of the crash was that Netaji
Subhas Chandra Bose who had suffered a lot of uncertamties during the last few months of
the war disappeared in a fog of mystery and speculation even as his closest companions

described that he had perished in the crash.

Ashis Ray has made a significant observation about the reasons that allowed the persistence
of Netaji’s myth in Indian politics. The years from 1937 to 1947 were landmark for various
reasons. Apart from Partition. this period saw many dramatic violent incidents. Netaji's
disappearance was one of them. A major reason that prevented a credible discussion on the
death of Netaji was the breakdown of the internal mechanism of the Congress party.
Jawaharlal Nehru who took over as the prime minister of India remained on difficult terms
with the Boses who maintained a power centre in the Congress party. The cold war between
Sarat Bose and Nehru was well known and cast a shadow on conduet of frank conversations

between the two. Sarat Bose was a minister in the cabinet of Nehru before Partition.
Apart from the meticulous historical and archival research. Ray’s submission 1s backed by

Anita, the daughter of Netaj. She discloses that there were uncertamnties to begin with about
what exactly happened to Netaji but highlighted that out of the three commissions of mquiry
Shah Nawaz Khan Commission. Khosla Commission and the Mukherjee Commission, two
concluded that Netaji had died. His death in the Tathoku crash spared him all the harassment
that awaited him in the hands of the Anglo-American victors, His daughter has urged that lus

DNA should be extracted from the remamns kept at the Shinto shrine near Tokyo.
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The airplanes were in the past

DTEren Hesoey
Options:

Undependable
Da0,HHDD 505)

not advanced

e3C0AETED 29

economical

B0 PSP BEREEDHD

smaller

S
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Which of the following 1s correct?

D3’ DO JBIE?

Options :

There was a cold war between Sarat Bose and Nehru. Sarat Bose was a minister i the
cabinet of Nehru in post-independence.

3OS 5D SHOAN B NS 2.8 BB NGO Sl BoBood.
M BOBBOBBO B 008 HFOS F3S 5D oo ™ HATT.



Sarat Bose and Nehru had different opinions. They never met agam after the
independence. Sarat died in air erash.

F5S 5D DA B DePed, werFecsPed SON ) 6. T
FBOBDHOBBO DBET o) PP EOIDEN. #6S Jond & &°
5 % NOPFOT.

Sarat Bose disagreed with Nehru over the Cabinet Mission Plan’s call to partition
Bengal between Hindu majority and Muslin majority regions. He was a cabimet
minister led by Nehru before partition.

PO Dardes HOAM SN0 ardes Jome 5 BOmrS D2z
FH0 THTE DAS TS AB0E) DN I & H58 D0 DBOOTE.

L S0 D2z SN0 B T 0HES0 265 5:8TE oo ™ &) .

Nehru fought with Sarat Bose because of nmuscommumnication when Bose was a
personal assistant to him. He ordered police to catch him and keep m prison.

50 2,8 8355068 0B €5cd) D Bie 136G 5% & Doemetod
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Try to find out the meaning for ‘credible’

‘8Bbened @i T @00 SennfaEas Habes)ood
Options :
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Impressionable

DEPDBZD

Reliable
2 & wa0,e5D

Debatable
3 x OO0 SHD

Concervable

B0eare003 0w
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The years 1937-1947 are the evidence of
1937-1947 506565 TP evmsa) S fo
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Ashis Ray's ideas about Netaji's disappearance and partition of India and Pakistan.

@85 0 GhuE) sStiden Ferd ecsydio HO0W epdd FETS @ Ve
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Taihoku crash and Bhagat Singh’s death

ST B8 OO 251D VoM B0

Netaji’s disappearance and India and Pakistan partition

. Sered eddyd50 DDA 2rBATH0 N T;ET W D23
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What was the mystery written in the above paragraph?
B i}rj“c;'_?&'é)ﬁs@rag G50 aNe3?

Options :

The reason of World War II
BN DD ANDO TBE), 5780

Japan’'s defeat

2. F E'gofs é..zﬂ:.‘;l)
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Sewred s0d00

Air crash

. D& DETAOO
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‘Communication 1s the exchange of information and the transmission of meaning. It 1s the
very essence of a social system of an organization,” This definition 1s given by

ESMATAS NP Sr0)G SO0 edo G 0. BB 2.8 Hod
Q308 ~PIr2E o35 OINE) PTP040. "&r DYy Saed) 0dth Rapto?
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Katz and Kahn
ehég D00 57

Myers and Myers
a0 DO OB

Newman and Summer
A5 o0 D020

Leland Brown
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Assertion (A): Written communication engages any type of message that makes use of the written
word.

(D8RS (A): FoBHPEE D0TNED FBIPGS Do), 5T N0E) O
o) 05 HoBme, @ond TWOE.

Reason (R): Written commumcation 1s the most effective mode i any acadenuc and business
commumnication.

58290 (R): gpSPEE 02718 FREDS O BT Ehrd3a06° 3d
29656069 2270 (.

Choose the correct answer from the following code:

8o& §86 N0 AT MSTTN0 JothEod:
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v DOCT (A) s0BO5W (R) D23 500 (R), (A) BB, OB aadSE 5D

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) c20003) (R) ausIp 2B (R), (A) (evve =Y QDA o6

(A) 1s true, but (R) 1s false

3 % (A) a:sip, =20 (R) 85p

(A) 1s false. but (R) 1s true
4 % (A) &8y, =20 (R) ap
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Communication 1s not
07T 5008
Options :

Unrepeatable
. o) OTPalg) €530 TN

Inevitable
i @D G50
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Match the items in the List — I with items in List —II according to the code given below:

53 808 e HODD TS BBHGI0k

List-I List-I1
;e -1 ere)er -2
1. Critical Listening a. Misinterpretation
8e38S Da300h DNROGIBIBIAD
2. Biased Listening b. Evaluate and judge
BOHOGE VS Qarenine HOA 26
3. Therapeutic Listening c. Dafference between different sounds
BoHe3S DVER DEY, G508 DEE 25EFENO
4. Diseriminative Listening d. Evidence based auditory intervention
AR DTE3S %o AABI) 0 (o569 E50
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1-d, 2-b. 3-a. 4-c
1. %
l-a. 2-b. 3-d. 4-c
2 %
l-e, 2-b. 3-d. 4-a
3. %
1-b. 2-a. 3-d. 4-c
4. &
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Assertion (A): All the teachers can communicate in the classroom effectively.
[DEOS (A): GarEainO0SEr S5H8eS ddS0s0m EardTE
DALt

Reason (R):  some of the teachers can only communicate 1 the classroom effectively.

S8@0 (R): TN GarEEonen SnEao SEHSS ddsoesormr
E0R3E) Bodied.

Choose the correct answer from the following code:
808 §G OB DB QTS0 JoE0d:
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Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
DO (A) OO (R) aip 500 (R), (A) BB, D a)odJED S°C0
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Both (A) and (R) are true and (R) 1s the correct explanation of (A)
_ (A) 2005 (R) 2.55p <000 (R), (A) BB OB DedOED

(A) 1s true, but (R) 1s false
L (A) ey, 0 (R) S

3.

(A) 1s false, but (R) 1s true

(A) &3p, =0 (R) =2.3p
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A train of length 100 meters, travelling with speed 45 kmph. taking the time to cross a
platform of length 150 meters (in seconds) 1s .

100 & G Ao Bew. Kotk 45 BSed Jhod (HAFSIF 150 &S FEZS
EREaREEmiD Treneds HEY DD
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A. B and C can complete a work in 4, 5 and 7 days respectively. Those three
combinedly got Rs. 415 for that job. them what 1s A’s share?

20, e 3

Options:
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A business man purchasing an article with an amount Rs. 1.200 and sold 1t for Rs. 1.500.

Then the percentage of profit he makes 1s

@ = o /. n . s N Y
A rard e 2.8 3 e 1,200 & FD 8050 TR &F. 1,500 8 e0dn;a, wed8
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A’s father’s father’s only daughter-in-law’s brother 1s related to A 1s.
A Bwdy Sol@, Sod 8 &) JB% H05r0 FAHIE, AS e Joodddw

Options :

father

Glele !

uncle
NN

brother in law
2Fed [ 2700 a0

brother
PSSR
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The word ‘NAME' is coded as ‘MNEA’ and ‘SOME’ is coded as ‘MSEQ’ then the code for
“WARM’ 1n that language is

—

— T E e ool ol r ¥
‘WAME' @ 000 56 MENa' @8 SO0k 'SOME @3 @ a0 56 MSEO @d
e, S . 4
§R Tohadd, @dpd @ Fad WARM T 56

Options :

| v RWMA



, x MARW

3 x WARM

4 % ARMW
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Missing group of letters in the following is
808 5005 S'H0DS e Tre HSrETo
ERASE : FSBTF :: MAGIC : ?
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| % NHBJ

, % NBHGD

5 % NBJHD

4 NBHID
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The missing number in the sequence: 5, 10, 17. 26. 37, 1s
~ o N S )
o Faodd mops: 5. 10, 17, 26, 37.

Options :
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The odd one among the following letters 1s

o £ -
2y Py oo o e o BV O SxE g Ty g R
(SO0 T cdIed]), 2uS OEre ) &S O 20

Options :
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D

v TV
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If W=X>Y,Y=U=Vand T LU <S then which among the following 1s correct
W>X>Y,Y=U=Vand TSU<LS ssand, @34 806 TS 26 H8TSE

Options :

| % V=S
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Animals. Cat. Dog : the relation among these terms in venn diagrams 1s
- o % =} -""5 e ol ” n = o =
Bodugen, DO, %) : IS Bar Do & HO&Ae 5383 Ko Hoodkn

Options :
f_,-"'"-- - _H_hh"\-ah
.r"'ﬂ-ﬂ__'__\_\ﬁ"‘-
|'/ Gl >
o
— ‘—‘::;f..-*
1. % T
2_ W
"-_H_'-'_J_'_'—\_\_\_\-\_H_'—\-\_\_\_
(O o
e
3. v
4, %
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BeE: (Dd3e0 Q. 31 Ho& Q. 39 S0, 06 NIFTO0 BTOOTT G0N,

The pass percentage of boys and girls and the total number of students in six schools 15
presented in th\. tollowing table.

s TS B0 Do Home LB BBl FA0S rend HOA 2rdie
Homien, 500 HELES frody HESnAIE,
School Boys zrentd Girls 2r®%en
2707 | Total no. of students | Passed | Total no. of students | Passed
FwS0 e Hop; | seds | Znso Do ide Hop; | Eedes
A 380 266 300 228
B 430 301 330 264
s 400 332 460 414
D 350 273 390 273
E 44() 374 440 396
F 350 301 430 344
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The percentage girls passed in total students i School A 1s

2 o™, o b o o ¥, . 7,
TdTe A D IS0 Do d, PS8BS :rdio T
Options:

| % 70.00

76.00

3 v 33.53

4 % 3474

Question Number : 32 Question Id : 27028216061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In which school the number of girls who failed the highest
JrdTe S @diHE Hopss rdien DHOToTd

Options :
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Out of total number of boys in the given schools. pass percentage of boys 1s (nearest)

23305 TETOSD Do arend Do, sads THONS rend TS0 (SEET)

Options :

| @ 7859

76.67
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Out of total number of girls. in the given schools, total pass percentage of girls 1s (nearest)
b 3 e : & Seitl : - 5 . i
2038 réTed D Fudo rdie Homp:dS, 9l TH0ND rdie Téo (BIET)

Note: For this question, discrepancy is found in
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Options :

1 78.59

70.62

40.82

3157
4.
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In the given schools. the highest pass percentage of girls is in the school

& &
R - o o R y o ool Loy Y e i
"E’-‘T_.\_Li.”.-.'\:' armEees '-’:'J_;f_‘-‘f:f&f:(- :9*“:?(:;‘4:_‘? P80 AP0 cu;:'?_,-'é'f_,' PR ROl

et

Options :



4. ®

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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The process of dividing the a disk drive into tracks and sectors 15 called

28 EEo® (B bk B e DFRoSER) St (Bod Dorre Denki.
Options :

Tracking
Ceglatelal

Formatting

5 o'j“?:ﬁcét%oﬁ

Crashing

[seeyoh

Allotting
weor@on
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Von Neumann computer uses the following type of instructions

=R WegEhe Boagghab S S8 Instructions arthéob

Options :

|« SISD

, % MIMD

MISD

SIMD
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Which of the following is not a web browser
% Bob a@&° DB 3F | T'eb =otH

Options :

Internet explorer
zota 6345 &5&@555

™

1. #



Firefox

, % 0FH)

Chrome

3% &

Foxpro

>E) @
D 6

4.4 ¥

Question Number : 39 Question Id

: 27028216068 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following domains 1s used for academic nstitutions in india?
206 Bt ) &750 &0 s ngosiD Dy Féo‘c’ge:ﬁ:u aRtEetD

Options :

1. % qIEt
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& (806 arBE® O DS ergro ©fod aErored St
Options :

1 % net
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Which of the following 1s responsible of formation of Ozone hole 7
L& Bolgdn DB)EErDE S (Bob a8 DB ariE HiEoh?

1. UV radiation
UV D&8cen

1. Vortex formation
aﬁaEr;J SIS
A [+ 7,

1i. Very low temperatures in exosphere
DEREHE Hoth ©& S el (e

1v. Polar stratosphere clouds
SlaroB8od® FpEPiyahb diiren

Options :

| w il

1 and 111
1 508a%0 111

11 and 11
1 208450 111

1. 11 and 1v
1, 11 S06c%Hn 1v
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Which of the following 1s correct with respect to Nuclear Winter ?
57208008 (wew) SHsrerd Somohod) & (Bob @S D6 HOESEH?

1. Reduction in photosynthesis
88es exidy Do@rrBab &b

1. Animal starvation
2ohye =D (Hhoth)

111. Biodiversity expansion
S53De; DBes
il Ful '

1v. Food supply increase for animals
mofnoi afborr ety Do

Options :

111 and 1v
11 080 1v

1and 1
1 508450 1
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Which one will cause environmental degradation in rural areas ?
e [Frosred® Howstno EBoiHn® sBmo 26?

Options :

1.4



Shifting agriculture
[roseR) Stk b Dond

Biodiversity conservation
£5 3D HovEes

Afforestation
eidae oo

Integrated agricultural practices
el sgRardd BHEen
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Which i1s the socio-economic factor that regulates soil degradation ?
8 Froins - ©8¥ B¥0D grrtEn SBomin?

Options :

Farm policies

1 Eﬁéﬁr)ﬁc'cﬁ} Jgraren

Fertilizer usage
wiahe amiso

Vegetation protection

L S Dot B



Population density
4 % B TFolisd
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Minimata chemical industry discharges their waste into the sea. Which of the following
is correct ?

SRR Barahis HBED e $Em(ios’D8 Dhte Dan. wRs Howohod & (Bob
TS 06 $6EH6?

1. Mercury 1s the chief pollutant

artiBh0 gy sPena); SeOEED

1. Death of humans caused due to gases released by the industry.
HBEH DhKenns dnHed srdHe )& Dok

ii. Bioaccumulation of mercury in the fish
B8 aridho d5 $Esnm Bokhe:

iv. Mercury helps fish metabolism
Do) &5 BRrahis $58° 8% i

Options :
1. % i

1 and 11
1506050 1

1 and 111
1506650 111

11 and 1v
4 % i1 SoBdsn 1v
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Which of the following 1s the Highest academic decision making body of University?
DEDrodiriB KSonofoli Dl woTd) d¥diren SiHks wdnBDH6 Bobd
s 26?

Options :

Board of studies
&5 =D 945
@ (2]

Faculty Dean

argsd) as

Academic Council
SEEDE TS

Head of the department
a6 w9 & &arbsbot
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Education as a subject of legislation figures 1n the
FHHDEHN oot Somohod D HDE Tobhs wodo

Options :

Union List
golls edee

State List
D“I:; srefiae

Concurrent List

3 &é}é& eof oo

Residuary Powers

4 % wias wbseoren
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Most prominent role of a teacher in higher education
GiE DS ﬁ;méﬁ %@“mﬁétﬁiﬂrﬁ (B3 ae|es

Options :

Provide required information to students.

S'vag%mt‘a =TI ) 3533}%‘:”0“2& wofiosStio
1. %



Promote self learning in students.

- @mﬂgﬁgﬂﬁﬁ ﬁ:ﬁdﬁj ©3FTe8)) 2osroboso

Encourage healthy competition among students.
z = o6 : =
- Drgs’ «BrEsmsS R B iroito

Advise students to solve their problems.
DOt 56 HHRgedh 590 HBHP0WHEHD LSS Dabto
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Which of the following statements is NOT correct about distance education in India?
arbEnSodd tﬁ:ﬂfﬁ&tﬁéﬁg Hoz0fody (Bob @’}51‘.55995’3 2HE5R0 87

Options :

It supplements formal education wherever required.
TSl 8% Dk 33!1‘.55& errnoTEnoT Sofnob

It reduces the cost of education to a great extent.

Ty FIOZOLI G a;c‘ﬁ:{jio oreT BNE ég‘@no&

It replaces the formal education shortly.
BB Dahd g sEddod



It enhances access to education.
g wN5T°e @otDertnen oo
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Assessment and accreditation of all technical institutions is in the jurisdiction of
FoSHE Dory Hoge o HOAD HB0DH B HBHEE Hiob.

Options:

UuGcC
dm0. 8. .

AICTE
o862

NAAC

NCERT
R.5.3.@5.8
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Which of the following statement (s) 1s/are associated with archacological sources?

& (&ob anéaf:}én@ﬁﬁ 09 Hoesd) erbined dnd HBaron

1. It includes structures and objects found n excavation. mseriptions and numismatic sources.

A téa’aogéé)}@éﬁ DODENED égémm, Denegen, 0 DO
L SPOPED 1))

2. Our knowledge of pre-historic times and the Harappan culture 15 exclusively based on the
sources obtained from excavation.

$0(@ rdyodnrio EBdin sr8ak) Sod B MV Ho eBdmrd rom s’
20N FHTA P rsHG Sob

Select the correct option

B0 asrani HioHEm

Options :

Only 1
1 Hr$d

1. %

Only 2
25|
2. %

Both1 & 2
1 308c5m 2
o

Neither 1 nor 2

4 x 1 B0 2 &
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Which one of the following ancient Indian records is the earliest royal order to preserve
food grains to be utilized during the crises in the country?

@é@&’ﬁﬁ‘éﬂﬂ S0osns? QDF@ErDE ejﬁﬁémgm@é} E}P)éﬂﬁﬂ%“@ﬂﬁ)
D @D grodah TeiBin DBOHNB .

Options :

Sohogaura Copper-plate

_— PSS ooh B

Rumminidei pillar-edict of Ashoka

St tib.‘)éér r:ﬁa&b&o& AT BRI

Prayag-Prasasti

Mehrauli pillar mseription of Chandra

Dol eFa 08T
4. ® ®
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Match the following.

& (Bob AN e2thain

List-I List-1T
0 -1 0 10
[++] [+%)
1. Rigveda a. Dhanurveda
iﬂjﬁngd&’:m Infiolelatat i)
2. Yajurveda b. Gandharveda
ﬁﬁamﬂéétﬁcfm roity Tt
3. Samveda ¢. Shilpveda
AV ATV By DS
4. Atharvaveda d. Ayurveda
Clale 3635w @Cﬁ)}ﬂéﬁﬂaﬁn
Options :

1-d, 2-a, 3-b. 4-
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Which of the following pairs are correctly matched?

% (Bob 7% D DB e:dNBSDERD

1 Mrichchakatika - Shudraka
65:'&:,{51:] EHE Eillnt=3lny

2 Buddhacharita = Vasubandhu
E.Zl-}iéiﬁﬂl\g‘_s Dendotntd

3. Mudrarakshasa - Vishakhadatta
K}D@ﬂﬂﬁéﬁéﬁ}} AL Al

4. Harshacharita - Banabhatta
S, S6(8 a;rvf:af,“iéég

Select the correct answer using the codes given below:
Options :

1.2.3and 4

> 1.3 and 4

1 and 4

2and 3
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Which of the following texts were authored by the Kashmiri poet Kshemendra?

& (Bob (foddwes® A9 é’ﬁéﬁ 59 SaholthdE (Erchabaron

a. Kuftamimata

©EV5TS

b. Kalavilasa
Beederd

¢. Prabodhachandrodaya
8% SolgtseH

¢. Samayamatrika

RaNah Sr(8E
Choose the correct answer from the options given below:
&2 (Bob o) ol DB earanid JinE dn
Options :

a and b only

a 508330 b

b and d only
b s0Basn d
2.

a. b and c only

5 % @ bEBai ¢ SrED

b, c and d only
L b. c 50850 dm|$sh
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With reference to the history of Ancient India. Bhavabhuti. Hastimalla and
Kshemeshvara were famous

@S rEsaTR8 Sogobodkosdd 45 #r8 e HBcH éﬁaégﬁ B8 (08
Options:

Jain monks

- B0 Daegnen

Playwrights

5 et Bdomésen

Temple architects

. esedD modhen
3. * @

Philosophers

n e‘.ﬁé&ﬁéﬁn
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The following travellers came to India.

88 D) S (Bob BB K @Hen $oBBjoNd

1) Fa-Hien
By ilonts)
1) I-Tsing
a83)0h

1) Megasthenese
RS
iv)  Hieun-Tsang

SairEs @oh

The correct chronological sequence of their visits 1s:

FAleS) Q088)00H sPoRnih 2 [Bartiidonr (Frainn
Options :

i, 1, i, iV

5 & 1L, 1, V.11

4. % 1, 11, 1v, 1l
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Which 1s the Neolithic site of North-East India?

&8 g BS0308 HowohHod & 1BobSDS ok ﬂgééa’m 08?

Options :



Chirand

_— Horob

Senuar

)« 276

Sarutaru

.M_"\
3 @ stnEetn

Taradlu

. 56
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Assertion (A): The inner side of the Megalithic pottery i South India has black colour
and on the outer side it has red colour.

DS s (A): 58 gries B’ JFOEE yeadhH ar(den &%
Ne&Bord N BE Sorbih EDA GImom.

Reason (R):  These colors were painted on the pottery separately

s8ein (R): S)mcd argep 3 3o Sorben Sohadaron,

Options:

Both (A) and (R) are individually true and (R) 1s correct explanation of (A)
| x (A) $BSD (R)en Bokr $B85 Hbon (A) B 0588 DdBe, (R)

Both (A) and (R) are individually true but (R) 1s not correct explanation of (A)

, (&) B (R) en Dot 3K bt (4) H XS > R) 57



(A) 1s true but (R) 1s false

3 @ (A) 233p 5°0 (R) 823y

(A) 1s false but (R) 1s true
(A) 859 =20 (R) 5y
4, %
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Match the following:

£ (Bob a7 exednihain

1. Mohenjodaro a. Statue of a priest
S 3roE e’ HBreHD i
2. Harappa b. Port
SPBar) ot DHégeesin
3. Kalibangan ¢. Plough marks
sega0N S edart
4. Lothal d. The Great Bath
&S SIS B
Options :

1-d. 2-a, 3-c, 4-b
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Match the following rivers with their ancient names.

& (BoB $thei S Frdd Trdndns® adn%hHsn

Modem name Ancient name
eatHd8 Tesoam AN
1. Jhelum a. Vipasa
S0 Dard
2. Beas b. Parushmi
=y al B
ﬁj@ﬁ}-’n} a]ffDu}bL
3. Chenab c. Vitasta
Dardh B’Jéf@:
4. Rawvi d.  Asikim
oea) @é‘é’:@ﬁj

Select the correct answer using the codes given below:

% (Bob Hdhalsd Srdde eprdorr sarena aodhE Rnan

Options:

| % 1-b. 2-d. 3-c. 4-a
l-c. 2-a. 3d. 4-b

2.
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Which of the following are features of the Rig-Vedic economy?
BT srosn o6 88 553 oFpsnen & (Bod B HD?
1. It was primarily a pastoral economy
largensorr af Howed 8% B
There was cultivation of multiple cereals
ATVEALA ALV HoBoTardd
3. There was abundance of wage earners
&% srednst 2 F&Dazééﬁ 385 2Hen dotart
Select the correct option from the codes given below:
& (Bob zRénHod SrdBe egrdorr $Bmond 235ed )oHE DM

[ )

Options :

Only 1 & 2
1.¢

) 2 &
. Only 2 & 3

3 % Onlyl&3

Question Number : 63 Question Id : 27028216092 Question Type : MCQ Option Shuffling : No
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

What was the reason for the rise of Magadha among the Mahajanpadas?

Sesd Hsmedt HKe Eﬁmaoéﬁééj e se8eealn

1. Strategic location

8o 5B¥0S® sodEsn

Association with the activities of Buddha

ea::cﬁgé‘[} ab) DD 5’}6&5&1}&:@5 SoapESnsesto

3. Fertile zones of land

PES0EDS grsimen O SorEsn

[

Select the correct answer using the codes given below

& (Bot) S&chabd Srdie aprdorr HO0®ond e JohE N
Options :

1 and 2

1 and 3
2.

2and3
3. %

1.2 and 3
4. %
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Which of the following kingdoms were associated with the life of the Buddha?

m@m L5808 SnBIBD TragEneD @)

1. Avanti
GRS

Gandhara
ot

| )

. Kosala
e

4, Magadha

3 vlatal

Select the correct answer using the codes given below:

& 1Bobdohadd Srdle eprdone saranid JoHEHdn
Options :

fia

1.2and 3
1. %

2 % 2and 3 only

3 % 1.3and 4

3 and 4 only
4.
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The concept of Anuvrata was advocated by

eorin|ses Eamgoe‘_ﬁa’mé) AR A O TATTA

Options:



Mahayana Buddhism

B0sFAirS FoganEo

Hinayana Buddhism

 Eeais SgEdsn
2. %

Jainism

22rdahessin
3.¢¥ %

The Lokayata School

 Sdseaheten
4. %
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Ashoka sent missionaries to

088 S HordHeod Hodod
Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

China and Kashmuir

: B snbain é%&f}



Tibet and Ceylon

BZ¢5 Hbcin 1S
2.

Tibet and China
3 #23e5 nbasn AL

Kashmir and Ceylon

, 545 %005 HE°S
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What 1s the correct chronological order in which the following appeared in India?

g8 B¥08° ©DodS & Bod B ESrdKdorr raindn ?

1. Gold coins

DOMPY) TPERRIDED
2. Punch-marked silver coins

Hod- HrHE se@en

3. Ironplough
BZes) T

4. Urban culture
w2 wh
26 ORPS

Select the correct answer using the codes given below

& [Bod Dohald STrdie spbore H0mond 2o Qo s
Options :

34,1, 2
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. Assertion (A):  The history of the Indo-Greeks can be reconstructed mamly on the evidence of
their comns.

DB arEsin (A): s0E(%e @ng) 38 H a6 F@EsNe Al SErTsin
(e8sn 608 BHE

Reason (R):  Major contributions of the Indo-Greeks towards Indian culture were in the field of
coinage.

sesm (R):  grls 0F RORpBE T o8’ @08 (en QosT SO

Options:

Both (A) and (R) are individually true and (R) is correct explanation of (A)

| o (&) B (R)en Sotir HB%a Hbcn (A) & 8BS BB (R)

Both (A) and (R) are individually true but (R) 1s not correct explanation of (A)

, « (A) B (R)en Dot $BSI HBA (4) © IBS Db (R) 5=

(A) 1s true but (R) 1s false
. (A) 2.5 520 (R) S5p
3.



(A) 1s false but (R) 1s true
(A) 825p 520 (R) aua)y
4, %
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With reference to the period of the Gupta dynasty in ancient India. the towns Ghantasala,
Kadura and Chaul were well known as

e s2erd8 Hogohod ¢ soobinre’ EEFE HB0 ‘T e (RS grisBEos’
(@rangg Barodid.

Options :

Ports handling foreign trade

DB H5EHm aéa@éaié&ﬂ@ €Easinen

Capitals of powertul kingdoms
DOHD TreEge GbE) TresERRuen

Places of exquisite stone art and architecture

segebbest éﬁiﬁ)éjﬁj&m@ r:aég,e‘_’m@ @3%&3}&}3

Important Buddhist pilgrimage centers

@“C@S ﬁotﬁdﬁ% ;gt:la'me_u

Question Number : 70 Question Id : 27028216099 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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. Assertion (A):  Construction of free standing temple became a feature of Indian
architecture since the Gupta period onwards.

NS g (A): AZeTLIo ) §¢e§i£o“m@65 13.6%%&110:356 Baredd K)m&aaén roae
SPesD 506 (rE0gonod

Reason (R): Development of image worship marked this period.

seUeaan (R): & sofd DfStoeds 5323@@03308}
Options :

Both (A) and (R) are individually true and (R) is correct explanation of (A)
1 & (A) 580w (R)en Bor $8:5: Hbatn (A) & $B85 ddBes (R)

Both (A) and (R) are individually true but (R) 1s not correct explanation of (A)

, x (&) 8050 (R) e Botke $B5S HB (4) $% KBS 6w (R) =6

(A) 1s true but (R) 1s false

3 % (A) 3P 500 (R) &a)p

(A) 1s false but (R) 1s true

4 % (A) 859 =0 (R) 2.2)p
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The caves and rock-cut temples at Ellora are

DS D e By Foladd Garochine SB8 HogododHd



Options :

Buddhist
Siale

Buddhist and Jain
ﬂigo 0B 8

Hindu and Jain

a0l $0Bdin 25

Hindu. Buddhist and Jain
aOtTe, J’f‘go 5080 @5’3
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Match the following:

£ (Bob a7 22885%han

Ruler Inseription
(@rethitd) (GRS WY
1. Samundra Gupta a. Mehrauli Iron Pillar
SE Y [l eSS TS [T &5y %oeﬁa’m
2. Rudramam b. Junagarh
o3 [alatAPETAS! errsnb
3. Kharvela ¢. Allahabad Pillar
gt Sents @q;a}'ﬂﬁ Hoasn
4. King Chandra d. Hathigumpa (Elephant Cave)
SolSore 58 Hoge
Code:
Options :
1% - 2-b: 3-c: 4-d

l-e; 2-a; 3-b; 4-d

2. %
3 ¢ I-¢:  2-b: 3-d: 4-a
4w l-an 2-bi 3-di 4-c
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Which one of the following was an important Port of the eastern coast during Gupta period?

e oo’ &) &gt O SR 3% é%eaa’m
Options :

Kalyan
1% Egosdh

Tamralipti

5 T0da

Sopara

3 % ars

Baroch

28'5
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Mention the chronological order of the following dynasties which ruled Telangana Region

Boorres & H8arDoN & Bob vradodei Eiirhidorr (araindn

i; Chalukyas
wrEEgen

1. Tkshwakus

aggthen

111, Satavahans
Jeedaeaioen

1v.  Vishnukundinas

&@é}@&é}m



Options :

| w il dv, i & i

i, 1., v & 1

2.
i, v, 1 & 1
3. %
mi, 1, wv & 1
4.
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Which one of the following does not belong to the Pallava style of architecture?

% (B0b B D6 SeHe Jo20dodd 3D =H
Options :

Mahendra style

| % S0arolls 30

Mamalla style

~ orsne 20
2. H " o

Rajraja style
ores ores 38



None of the above

28 QDChF s°eH
%
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Consider the following statements:

% (Bob arEgEinerd HBohin

1. Parantaka I was engaged in naval expeditions and emerged victorious on the West Coast,
St1 Lanka and conquered the Maldives in the Indian Ocean.

L%@oé c‘ﬁ%h]a’)) é@@a SPOtP st mm@m@% cﬁjﬂ@@@cﬁa B ala)
SrodtthEs Perawos® =awoddh

2. Rajendra I conducted the most striking mulitary exploit after his accession in 1023 by his
expedition to northern India.

B THoltHtHd R0PIETR) BbRotk o (8.4, 1023 & &48 qros
8403 Botoirls D03

3. Rajaraja I completed the construction of the famous Rajarajeswara temple or
Brihadeeswara temple at Tanjore in 1010 A.D.
It reoeer doeird 6° (8.4 1010 H8 mejt’.ﬁé:%iqu:ﬁ o0 Jozmiint

0 5PRodi

Which of the statements given above are correct?

P 2B arEsEmes® HBand) Ol ?
Options :

| % 1 and 2 only

5 2 and 3 only

3 % 1 and 3 only



1.2 and 3
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Consider the following

% (Bob 72N Koo

1. He patronized the Vikramashila University and Nalanda University.

&0 DEHse Hban Svor D&dmpdired Eraodi

7

2. Famous poet Vajradatta who was author of Lokesvarashataka was one of the gems of his court.

Which of the above statement (s) 1s/are correct about Devpala?

éﬁéra’bgtﬁ%aﬂs*ﬂ B0 (kg B ez B B @ﬁ;é})&iﬁf{] Sodipsiesd
28t 0% arend8 Homofod) D amaEes’ OB J336

Options :

Only 1
| % 15mED

Only 2
2 Soelgdad

Both 1 and 2
1 508c%0 2 Higdad

Neither 1 nor 2

4 % &) BE8)
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What was the capital of GurjaraPratiharas?
e8P (H855%He oaged 08

Options :

Manda
BP0

1. %

Bhinmal

5 o D5S

Rangapur

Boise6

Khajuraho

4% getd 370
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Who was the most important ruler of Paramara dynasty?

HEETeerdsd (aeg@ Harodd Trathih QB

Options:

Dhanga

OorP
1.?'"*;rzﬁ

Bhoja

2.«5%

Dhruva
[yt
3. ®

KEnishna

% OB
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Who. among the following, were great Tamil Saiva saints? Choose the answer.
using the code given below:

& (BB 708 A5 e 35 &8 Soedhemen. & (Bob GrdBoid sdarhod) HBohin

a. Appar
W
™y
o) ”5
b. Sundaramurti

08 Hord

C Manikkavasagar

SRGBFHG

¢. Mallikarjuna Pandita
aﬁagmﬂtﬁgé 208805



Options :

a.bandc

a.b 083 ¢
1.4

bandd
b s0Bacsn d

aandc

a s0Bdw ¢

b.candd
b. c308a%w d
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Who established the four monasteries Sringeri. Badrinath, Dwarka & Pun?

-éejoﬁﬁ, 2|BTH, orgoes HBAn GrBedd Hoced DB)BD0H DS ?

Options :

Ramanwja

TeaTreners)

1. %

Ashoka
5> % 8%



Shankaracharya

éDE“U“aﬂtﬂé
3.

Madhava Vidhyaranya

4% R DgrgBess
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Match the following:

£ 1806 R0 22685 ihan

Historian Book
Intallizcievlnd) (Fo&sin
1. Amir Khusrau a. Padshahnama
&b g arSararsre
2. AbulFazl b. Ain-1-Akbar
oand Hed 00 —a- o0
3. GulBadan Begum ¢. HumayunNama
&S Bito Soshcrs e
4. Abdul Hamid Lahori d. NurSipihr
@3}@35 5808 e 2D Ry lerarela)
Code:
1234
Options:
~l-a 2-b  3-¢ 4d
1. %
1-d 2-¢  3-b  4-a

2. %
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The most learned ruler of the Delhi Sultanate who specialized m many disciplines including
astronomy. mathematics and medicine was,

&) Derto 500 ©HEEINND SN doweed ©E Sorfinod® ol
PEGED, KB G Hdakn FgBorsng’ Japid

Options :

Itutmish
¢ BOEDEOIDR

AlauddinKhili

5 % @Eﬁﬁ%% ﬁ]@

Muhammad bin Tughluq
P é}ﬁjﬂ&’)}@ﬁ s s

Sikandar Lodi
& 08085 S8
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Theoriginal name of Tansen. the greatest musician of the court of Akbar, was

S es%ga'aaﬁwéﬁ DoDDS ) Hofs Dol ®ons &8 DS dnE) @ken 1B
Options :

Makaranda Pandey

H0EB0d aroi

1. %

Ramatanu Pande

5 TPR0ERD P06

Haridas

3 % seBmeR

Lal Kalawant

4 % OO Bgvdos
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Consider the following statement (s) related to the Dara Shikoh.

B8 riJDBJ HBeow mé@&ﬂmm roBoham

1. Dara Shikoh was the youngest son of Shahjahan.

ror e SpessitsS GIng) 08 ESrSiH

[

Dara Shikoh was the devotee of QadiriSilsila
SdHTp  oond POd S Jer P

Options :

Both 1 and 2 are correct

1 % 150805 2 HB®owiss3

Both 1 and 2 are incorrect

> % 13080 2 HBeowd) 5°6)

Only 1 1s correct

- 1 SeEsh HBwondd

Only 2 i1s correct

2 Hre$sh HB®onHd
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In the war of succession who had supported Aurangzeb?

;Pé:&é& dﬁ:otga‘mcﬁﬁ T5oKBen a’:or‘,géa 30008 557
Options :

1. %



Jahanara

&3 e3P
Zebunisa
B

2. % =
Tintunisha

, B Y

3. %

Boshanara
SFIeTe
4. "
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According to Portuguese writer Nuniz, the women in the Vijayanagara empire were expert in
which of the following areas?
BRE) A aie@tH SR (Heetin Dead $i6 Ben doths® Rspeen
1. Wrestling
Eﬁ)g@ﬁ)}ﬁéﬁ'm
2. Astrology
£81 T
3. Accounting
Deao8 e
4. Soothsaying
ﬁﬁﬁai}gdo Select the correct answer using the code given below:

Options :

1. 2 and 3 only

., 1,2,3 0805 3 SeEssh

1. %



1. 3 and 4 only
, x 1,3 &80 4 H(h

2 and 4 only

3 % 2 B 4 SrEd

1,2.3and 4
1,2,3 s08csn 4
4,
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Which of the following are true about Shivay?

A28 HooBod & Bod 88 HB HBwowoh
1. He was a disciple of Ramdas Samarth..

B éé}g RNV AL 0¥ Bpged

He levied Chauth and Sardeshmukhi..

5% TS HBAIH BT Fwd ol Shdren T2

3. He became the Peshwa
a8 Dapgr D Do

[ ]

Options :

12and3

1,2 £855» 3

1. %

2 and 3

2 50Bdiw 3
2. %



land2

1 s0Bacin 2
3.¢¥

Jand 1
3508aim 1
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With reference to Mughal India. what is/are the difference/differences between Jagirdar and
Zamindar?

Inkeno HogoBodbod H8% b ob HBd aowrb o Ko FSSw () HHA

1. Jagirdars were holders of land assignments 1n lieu of judicial and police duties, whereas
Zamindars were holders of revenue rights without obligation to perform any duty other
than revenue collection.

=fb e o Hrd efostdn [H8Heorr o) sah HBakn 0D Dihed
N8B0 Heon Gotnobd. edbotebe 4ieenR Bairs efsrenotran 5% 3o
Okirg Siren o) 888 DA Agerodt

2. Land assignments to Jagirdars were hereditary and revenue rights of Zamindars
were not hereditary.

&b oo ¢l B iPty HodarBodtEin s+ edhombol  SEkre
ot ey Sodardotin s

Select the correct answer using the code given below.
Options :

1 only

| w 1 SeEh

2 only

, w2 EED



Both 1 and 2
3 % 2 s°th

Neither 1 nor 2
4 @ ©8) 5o
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. With reference to medieval India. which one of the following is the correct sequence
1n ascending order m terms of size?

Seicswn grds BENSD Hom0B0VH0S5BH ©HbrnEio &8 HBared
grisned HBohan

Options :

Paragana — Sarkar — Suba
HBRer - Joub - e

Sarkar — Paragana — Suba
Soob- DB,  Da

Suba — Sarkar — Paragana
sha- Somb, DB

Paragana — Suba — Sarkar
 HbKe, oa, Ho9b
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Who among the following Bhakti Saints was part of the egalitarian. personalized
Varkari devotionalism tradition?

& (Bob g8 &t sHos? 5t Qerdeing Bdin 8 Somotiond Ho=d
JeolHorahsin £ ardodih

Options :

Ramananda

e otots

Kabar
, % ED6

Mirabai
3 % Sroeaman

Tukaram

SHSPorsD
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Select the correct order

Bod QD HBeand [Ezné? HBoHHD

Options :



Nizamuddin Auliya. Kabir. Mirabai. Tulsidas

- &“‘ﬂ*éﬁj}%ﬁ, TOSSP, £D6, Soveron, deordd

Mirabai. Kabir Nizamuddin Auliya, Tulsidas
, « 525, 2erdngS, TOOR Hebrd B dovaran

Kabir, Nizamuddin Auliya. Tulsidas. Mirabai

- 58, mavoanS TDSr, Hedordh b Shovaron

Tulsidas. Mirabai, Kabir. Nizamuddin Auliya
4% Hedordn, Soovaron, €5 | ?C}aﬂﬁng)ﬁ, e lor
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Guru Gobind Singh had sent Banda Bahadur to Punjab
R0t Hoh Howmrd H wowe a5FErb Hodoweth

Options :

To propagate the Sikh religion
By srar 2 0HBCHErDE
| s Do ATy O

To show off his strength and valour

5 % ) 2P bW 536@33)& éﬁi}égmcﬁé

To crush the enemies of Khalsa

3 v PO ), d|EHyeid ?{}iﬁjﬂéﬁ}mﬁmﬂ&%



To establish a Sikh empire

BEpe Toagd)) DTYED DaHeess
4, % u
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The Sikh Guru who wrote “Zafar-Nama™ in Persian was

Lﬁ&dﬁaﬁ grdd ‘@5 oosh Bk E:né}(:j_ej FOtE) A%
Options :

Guru Har Rai
1 % ot 6 ordw

Guru Har Krishan

| 195 &5 855

Guru Gobind Singh
3 v 105 BHodhoh

Guru Tegh Bahadur

Kt B adrdrd

4. %
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In medieval India. the designations ‘Mahattara’ and ‘Pattakila’ were used for

B0t 0B DE8e’ ehseY Trthien anﬁédﬁnﬁ s D50 9 .’ﬁﬁﬁf_‘;
Saarfodaloron

Options :

Military officers

| % 28 e@hsethen

Village headmen

5> [rearfsethen

Specialists in Vedic rituals

- SETroHESH Qapen

Chiefs of craft guilds

. 38 Hivve (B G3nE) sngugen
4
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Which of the following place there were no Buddhist education centre during Rajput pertod?

& 180b aﬂ“g D owg Sol5m Treihe seod 3D S5

Options :

Vikramshila

QgD Be

1. %



Nalanda
Heone

Odantpur
3 % Pos Jrb

Mount Abu
4 HPots evae
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Devadasi system was prevalent in which part of India?

aetieh DSHm @) @ [Erosdne® B8 ood Jprddn

Options :

Eastern India

- Er&y grdSssin

Western India

o D8 grBasn

Northern India

Ly B85 F5Es



Southemn India

t8es grBesin
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Which of the following options is correct related to the Mughal Architecture?

ol Bidme Soxobod s Bob 068 DB HB@onHH

1. Mussaman Burj 1s situated inside the Fatehpur Sikri Fort,
58576 DB B HordsHS mg Eerth
2. Aurangzeb built Moti Masjid inside Agra Fort.

orEles® E¥omrEm Ird HHHEH 08)03:
Options :

Both 1 and 2 are correct

1 98w 2 Hbsondd)

Both 1 and 2 are incorrect

, v 1 30Ba 2 $65D

Only 1 1s correct

1 Sr|d HBeondd

3. %

Only 2 is correct

4 % 2 SPSED 5B8eondd)
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Which of the following was the lowest unit of administration under Marathas?

Ssorg © H8ared Derridnd? apho o6 ?

Options :
Pargana
=eTelatand

1. %

Prants
([arodsinen

2. %

Tarafs
SB5en

3. %

Mauzas.
il =
4 % ez
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Which of the following statement is not correct about Portuguese?

@'{;’:jjtjﬁm 08 HogobodHosHtH % (Bob avééafmﬂ@ﬁ 08 HBmonod =2th

Options :



They brought tobacco cultivation to India

DB e FrHi% e T8 B3Dob

They spread Catholicism in western and eastern coast of India

- D% 808 B% St @ﬁééﬁ“ﬁ@é} BBain Erkd) Erostnes® agﬁaoéﬂ?b&

They established first printing press in India at Goa 1n AD 1556
8. ¥ 1556 &8 InexAntser S cHolEHnth FFESEENS JoED)B

The Indian Medicinal Plants was the first scientific work which was published at
Andhra Pradesh in 1563
B8R F08™) FissBorrdB GHGEKSE dneP Anbnsd TQED HOE%SS

4. B.81563 & e0o[B¥os® (Htem seabob
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Which one of the following pairs is correctly matched?

£ Bob b DB a8d8Sadod

1. Battle of Buxar— Mir JafarVs Clive
256 d:intéém—ﬁhﬁ 20 B0 gae el
Battle of Wandiwash—French Vs East India Company
rolarR dngEn-(H00 Hbdin &Y sodar Sobd His
% Battle of Chelianwala—Dalhousie Vs Marathas
JDDATe dﬁ)}gm B0 b Eﬁ]ﬁmﬂ@ﬂ o")}fﬁé

4, Battle of Kharda—NizamV's East India Company
a:tg@imga’m—ﬁaﬂ& b mohn &g mo&ATP go2d s

[ ]




Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

1
1 $0(e85D

1 and 3

1 508d5m 3

3
3 Hr(essh

2and 4

.25')35@5}34
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Which one of the following territories was NOT affected by the revolt of 1857 ?

& [BoB & [Frodsm 1857 8%ihertnd [Herdssn oo,

Options :



Thans1

&)

Jagdishpur

2358556

Lucknow
o
3. %

Chaittor
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What are the correct order (first to last) of states annexed under the policy of “Doctrine of
]

Lapse™

‘tﬂéﬁjbgsné i}é&’ ESise RS e Iatalata) éoﬂgémm@ [Eemonsorr rainai.
Options :

Satara = Jaipur > Sambhalpur> Bahat

1 ¢ Sty > 85rb > Doerdirb = alrs

Taipur > Satara > Sambhalpur> Bahat
5 % Barb > Herl > Hoardird rairs



Bahat >Satara > Jaipur > Sambhalpur

g 2578 >Ja8 > Brd > Hozrdird

Satara = Jaipur > Bahat> Sambhalpur
dEd = Z2rb ke > Homrdird
4. %
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What was/were the object/objects of Queen Victoria’s Proclamation (1858)?

1858 =& oo HEBATe (50 @) 6ZEEm(en) DInS?

1. To disclaim any intention to annex Indian States

28D D écégémm EaosE5 50 SIS BhHessn

2. To place the Indian administration under the British Crown

SRS HbareD BH&gEore oS8 Hok Bots B n8oeHEEn

3. To regulate East India Company’s trade with India

PSSR E0E" i) =oB0Tr ol @nE) SYES0D 1;5;@@@5055@

Select the correct answer using the code given below.

% Bob Srde eprtos HBwond 2arand DoHEH.

Options :

1 and 2 only

| » 1B 2 Hm|$D

2 only

2 S

1 and 3 only

1 Ho8c5m 3 SeEah



1.2 and 3
1,2 $08c50 3

4, ®
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Who among the following was the first Surveyor General of the Archacological
Survey of India?

PBSEBE s ©B)rES ﬁéﬁ s 3080ir Ging) F0sB ‘éﬂ&dﬁ]ﬁ 2286
A?

Options :

James Burgess
25 289
0

1. %

Alexander Cunningham

& BrEDCSE éﬁ&&@ﬁa’:ﬁﬁ

James Prinsep

250 (DD

James Fergusson

R Ta e
L B5) DEFSS
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In the Government of India Act 1919, the funections of Provineial Government were
divided into “Reserved” and “Transferred” subjects. Which of the following were
treated as “Reserved” subjects?

1919 ﬁé-é&@noéf o5 z08d5m {5%6’3:13 FSieta UD@E:’;}J@ ¥ ehseddne
‘BayE B L@WS‘JE{@ Fpenre PBosnbS. % Bod &S I8
Bty Fpenre HBobadH

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1.2 and 3
1.2 508c5m3

. 2.3and 4

2,3 snbaim 4

1.3 and 4
1.3 s08cm 4

1.2 and 4
1,2 $506c5n 4
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Which of the following Act. ensured the establishment of the supreme court in India?

SR80S HAD 5563 0 StHseSin ob)BSabot?

Options :

Pitt’s India Act AD 1784
6.6.1784 05) moBdi S&im

The Regulating Act AD 1773

8.8.1773 BrigB®oh Seysm
2. ¥ -

Cﬁhar{er Act 1793 AD
@.%.1?93 a’*gg ﬁ@wm

Charter Act 1813 AD
8.4, 1813 =86 JSegsm
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Which of the following legislative measures taken till 1861 regarding women rights and
marriage are true?

Lfn}, @ing) sFEpen Bdn Qardramd domofod) 1861 H8EH & (Sob VAL
@”’mé}ﬁ& @) T Sen HBeaNA).

1. Permitted inter-caste marriage,

©086 Here gy D HowoFEmet ©oASBm

2. Daughter to be treated equal with son regarding inheritance.
SirsHes SErsor ErHhd & t‘i?‘f@}ﬁﬁ gt

3. Equal remuneration to both men and women.

() B HBDHH Jurid Erd (FS55m)
4. Immoral traffic of women to be illegal
(0 Gng) ©I8S Saver Y @08
Options :

1land2

1 s0Baiw 2
v"’

2 and 3

, % 2 B 3

.2and 1
3250830 1

All the above
20 danRsdyair
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The Kuka movement to overthrow the British rule was organized in

E8& ofseoel) Ero&lchird8 Gs’ estSgEnain s 220R00.
Options:

Uttar Pradesh

635 (HBS

Bihar
5 x D566

Punjab
3 ¢ 20D

Bombay
20
»
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Ho and Munda tribesmen were from:

e’ 0Bt ‘Kwnowe’ Abeiben o [@rosddn e,
Options :

Chhotanagpur
Serarhdrd



Rajmahal Hills
orEsaeS DS (arodsinen

Aravalli

_ es0PRE (P0S5m
None
Q&G 5ot

4. %
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Who founded the Sr1 Narayana Dharma Paripalana Yogam?

& Trorahes GjareR @rKGni T2l JH?

Options :

Dayanand Saraswati

BAPH0E DB

Periyar Swami

28056 I

Narayan Guru

eorcDes Ot



Gopal Hari Deshmukh
RParsS 58 BEsme
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Who tried to rediscover India’s past?

DS ge680H FPysaed)) 80A @ﬁ&ﬁmiﬁ Boh&odob.
Options :

Lord Lytton
b DES
G 2

Max Muller
&0°Ey swebd

S.N. Banerjee
chHR. cha. ﬁég

Gokahale
ﬁﬁsgé
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The foundation of modern education system in India was laid by

eSS RESnE Hras Doegderdsn N0 egoe {5’}5‘5%3}%20&0&.

Options :

The Charter Act of 1813
1813 & o856 Seyso

Macaulay's Minute of 1835
1835 =& Sose8gnided

The Hunter Commission of 1882

1882 @ Sotb Edns 2388

Wood's Dispatch of 1854
1854 =& &&) Hdn
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Which of the following 1deas propagated through Ramakrishna Mission?
oedg)0 D B ) graddnen 8B oSaéaron?
1. Social and religious reform.

roqnE HBain & [Hod)Beasmen

2. Women education.
) Alay

3. Doctrine of service.

VR RS

4. Service of Jiva and worship of Shiva

BHIE DS BHIB ez
Options :

Both 1 and 2
1 % 1 308cw 2

2.3and 4
2.3 0daciw 4

3 and 4
3. % 3 s0bdw 4

1.3and 4

1,3 sobBow 4
4, &
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A 19th century social reformer who 1s regarded as the bridge between the past and the
future 1s

ErHE% B eEhRESS FEHEIDS 195 SergsinTd rogng 508 J5B



Options :

Keshab Chandra Sen

| % BESS0EDS

Devendra Nath Tagore
> % B30(B5T8 b

Ishwar Chandra Vidyasagar

3 & SeEBIolES Daegrrid

Raja Ram Mohan Roy

TReP0Pe)) 3PeiP) TRCD
4.
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When was the All India Women's Contference founded?

oo p8cDh () JHErSEE @ ;‘anﬁérjéméﬁ [arBogizonotd?
Options :

1 % 1924

1925

1926



7
4V 1927
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Consider the following pairs:

% (Bob adferd Mabdohim

Organization
QoRen

—

Arya Mahila Samaj
ey S0eIPECIRTR0

| ]

Bharat Stree Mahamandal

58 & HosPsnold

3. Women's Indian Association
e =lelatov @GRS
4, National Council of Women

JH8S TS @ S50S

Started by

[arobgien

Ramabai Saraswat:
Baimeareomn ﬁiﬂﬁé&é
Sarala Devi Chaudharam
58509 TSoed
Margaret E. Cousins

- O
Latika Ghosh
odse 55

How many pairs given above are correctly matched?

28 Ssohabid i) aden HBLoNHD?

Options :

Only one pair
288 a8

1. %

Ounly two pairs
Ooth esdhen

3.¥



Only three pairs
S5 e3eten

All four pairs
i)y JreniD aden
4, %
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Which among the following is/are correctly matched.

% (Bob 7rB&%H05eD es(en)

Newspaper First Published
(B S8 (0tes
1. The Hindu 1878
& srolir
2. The Amrita Bazar Patrika 1780
& ofps orb HBY
3. The Bengal Gazette 1818
6 DorrE NEeS
4. The Samachar Darpan 1868
St i atey
Options :
2 only
2 Selead
1. %
1 only
1 Solesad



3 only

3 Hmldad
3. %

1 and 4 only

4 x 1350065 4 ErED
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Which was the first English newspaper published in India?

erB80808° (Hh8m ®ond s HHroEs HISE 06?

Options :

Bengal Gazette

Zoree Naes
o

The Statesman

8 NS
2)E)

The Hindu
8 Seotim

The Bombay Herald
& 2rod Biteio]
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The author of Modemization of Indian tradition is

‘Eﬁ:ﬂ@ﬁ@ﬁﬁﬁ ey BOA0HY (8RN ¥ Bome
Options :

Dhurjati Prasad Mukerji
ErBd (Hars S0pd

Yogendra Singh

@oeniol Hoh
2.9

M. S. Gore
ado.chD. /B

Ram Ahuja
TosD e3T0E
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Which of the following works of Rabindranath Tagore 1s dedicated to Subhash Chandra
Bose?

BDolBG ErRPEE BDoNHab, Herhsolts’hs wodsihchnds HHhn

Options :

Gora
Fboe

Ghare Baire

K636

Tasher Desh

Srstatnl ]

Bharatbarsher
griaerbad
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With reference to the Left Movement in India. consider the following statements:

SRS 6% ttiire Somofod) & (Bod arEgEined Kelodhsn.

1. Russian Revolution, French Revolution and American freedom Revolution provided
an immediate 1mpetus to socialism 1n India.

Bapg e, (o) Dxddn Hbahn edhbs dxdold Dxddnen
S DE S ﬂ“é]é&miﬁ @:&]ée)&mé FeonereN® HABHTOD.

2. The Great Depression of 1929-30 provided a boost to socialistic 1deas the world

over and in India as well.
1929-30=8 @95 srotEn [@ioddose &bk arbdndoditn ﬁ‘uaﬁ}ﬂvaﬁcﬂ

?oz:g o#sme 5533_%5 Bl on.

3. The suspenston of the Civil Disobedience Movement in 1934 too contributed to

rising of the left movement in India.
1934 3 Sos8)5Ens® TiEY0d 6 88t s BE G

268 & 8¢fon

Which of the above were the causes of the development of the Left Movement i India?

2% D560 @ seBesnen oSBT Eg D @&Eﬁg%g gﬁéﬁmﬁy
HBoSHFEw.

Options :

1 and 2 only
1 % 1 50805m 2 SmeEah

2 and 3 only

-

S v 2 08350 3 SrlPah

1 and 3 only

1 5B 3 HrEh
3. %

1.2 and 3

4 % 1,2 565 3
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Consider the following statements:

& (Bob arggEineih Hihdodiin

1. Gandhijt founded the All India Harijan Sangh.
mob® ‘e noldir FrBadbomn’so 5133305263

2. Dr. Ambedkar founded the All India Depl t‘.::':-wf.‘d Classes Association.
. 008655 @6 soddir BRDE a0 ©FHEDHAS SED0BiD

Which of the above 1s / are correct?

20 3 D_\Jé aﬂ%a’m(m} 08 HBeonR.
Options :

Only 1

1 SoeEsah
1. %

Only 2
2 Sleseh

Both 1 and 2

1 508a5m 2
3.¢¥

None of the above

L ¢ PO DD s
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All India Muslhim League was founded in the year

e gt Hnfen OF o moéé&éﬁ'}méﬁ ﬁ;ﬁ}@é&n&é&.



Options :

1906
1.9

1907

1904

4 % 1905
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Choose the correct statement(s).

2B0008 am%ml’_}éj &Ié}&%ﬁo&.

1. The ‘erstwhile princely states' were those states which were retained as European
colonies such as Goa and Pondicherry.

8% grds éaﬁ;cﬁmm &5 cEiHahS Seden Ko HBaH %DD&%JES@&J

e Qeny B om.

2. Those state Princes agreed to merge with India

BPoshob ”éjﬁ;a%&&m eriSB S0t DDTO8 wohEBodart)

3. These were also known as native states.
BVEFE° ?65331 éoﬂgémmmﬂ grlodadaron

Options :

Ounly 1
1 Sorlesad



Only 2
2 FHmleadh
2. ®

Only 2 and 3

3 v 2308c5n 3am(Esh

Ounly 1 and 3
4 % 1 508c%m 3 SrEsd
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Who among the following believed that nothing can emancipate the outcastes except the
destruction of the caste system?

émééééeéj QErgDoSEm m&mfu oprdd Lere @ﬁ’ﬁé@g #cﬁéa’ma‘g}é)otﬁﬂj
SEgdensoBardh dBth?

Options :

M.K. Gandhi
cho.8. mob

1. %

AR, Desai

5 % .00 darom

Jyotiba Phule
ﬁﬁ@@epﬁ oS
3. %



B.R. Ambedkar

4 2).esb. E‘?Géiﬁég
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Consider the following statement relating to new education policy committees

e DERDERRRNHD Ho@0HoHoSHEH S (Bob DB Kdodskn.

1. Justice Verma Committee
2R 38 B
2. TSR Subramanmian Committee

&.00.00. D@D S

3. K Kasturirangan Committee

24570 BoKS K50

4 Ramaswamy Committee

D"Eﬁ)ﬁ“&@l Bond

Select correct answer code given below

£ B0b Hrdde sgrdorr H0eond earanid o8 insn.

Options :

1 and 2 Only
1 % 1 508an 2 SelEd

1. 3,4 Only
5« 1,34 SmEd

and 4
a0b6cin 4

[
| B
LI Ly

3. %

2 and 3 Only
4. ¢ 2 SoBckn 3 S
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Match the names of the following tribes with the areas of their settlement.

& Botsdchnds Abeiden HHBcH =5 VDB Erosines® adhhHdn.

Tribes Areas
ABesidoen [@ro&nen

B Khokhar a. Malabar
g%Ben Heerd

2. Kurichayyas b. Punjab
s‘é}&tﬁu‘wcﬁﬁam Sosrd)

3. Gonds ¢. Maharashtra
RPothen aﬁja':ﬁtj&@

4. Kolis d. Madhya Pradesh
&Den gy (BB

Which of the following is the correct matching?

& (BoBE® HBeom earan 0O?

Options:
1.« 1-b; 2-a; 3-d; 4—¢

> % gy iy 3o dad
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How many states and union territories were formed under States Reorganization
Act 19567

1956 fgé.‘izj b Qe $60 (Heedsn ) TogRnen, SolSards |grossnen
Sy Baom.

Options :

16 states and six union territories

16 orgisoen 6 SBo|Barde [@rodsnen

15 states and seven union territories

15 oegisoen 7 Bo|Barde [@roddnen

14 states and s1x union territories

P 14 oegsinen 6 Bo|Bards (sroshmnen

12 states and eight union territories

12 oogssmen 8 BolBarDs (Frostnen

Question Number : 130 Question Id : 27028216159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



In which of the following year, Panchsheel Agreement was signed by India and China?

& 8o o ”éoaﬁéﬁaﬁnéﬁ zobair Hbah Jare iy Hosde 2,2))0tEm 20R0b?
Options :

1953
1. %

5 « 1954

1952

1955
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Who called Herodotus as the father of history?

38(8 Db IEBE DG 5 ﬁjﬁ“@ﬁﬁ@?

Options :

Augustus
TS

Caesar
o356



Vico

oHEd
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The author of ‘A Nation in the Making” was

‘B JAD 18 & H8oi (o SSones
Options :

SN Banerjee
. ). aa’ag

Mahatma Gandhi
éoa’:’i@vé o6

Hume
a’jncrgg}

Tilak
feg
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What Is History 1s work of?
56185 ©08 DB’ © (ol BSons

Options :

Jenkins
2080y

E H Carr
= 2ra. 520

Washbrook
aa2es

Stein

65

Question Number : 134 Question Id : 27028216163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one among the following statement is true in the context of the testing of
hypotheses?

288 éégoééc}@g % Bob anééénméﬁ DBmonHd 26?7

Options :



It 1s only the alternative hypotheses that can be tested

93%55@5 HBEK Dre(gadh HOGoSDHOcsND

It 15 only the null hypotheses that can be tested.

- QBLEo0Y HBBEBD Sr|Esh HOFoSDeain

Both the alternative and the null hypotheses can be tested.

@mEﬁﬁE alalerhy K}iﬁiﬁééomjc‘éaﬂﬁﬁj D}ééuxﬁé@cﬁmm

Both the alternative and the null hypotheses cannot be tested.

4% 65515355 SBasn ?(}iﬁgéé}mjé 5BEeS Eﬁéé@iﬁtﬁ“iﬂ]
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Post modernism was started in

e3tnRE edosSartsn (ardodizuonod
Options :

America
1 % ©bbse

Europe

ovIvilete
2

West Asia
aﬁ%ﬁaﬁa esmdioe
3 %



Asia
esmaire
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Given below are two statements: One 15 labeled as Assertion (A) and the other 1s labeled
as Reason (R):
&8 (Bob Both arEgimen Sabadaron. a8 IS arEEm Dok B8,

Assertion (A): Data must be authentic before 1t can be of any value in historical research,
yet proof of authenticity does not establish’ its value it must also be accurate.

DB)E arEsEn(A)FEEY SErrdin Ssyr sowd. Bdions & HEroroei8
3618 508%5588 tnPHoB DendBth woBseoTe HBmond HEratEn @ﬁ}éﬁéﬁnﬂ
A0S ©3089B @ JErTEiNEE Sotnod.

Reason (R): External criticism 1s. therefore. referred to as lower eriticism of the data.

seUeesn (R) Darmed 33&’)3@65 ersTgRaGD HBeon earanid R,

In the light of the above statements. choose the most appropriate answer from the options
given below:

& (Bob arEgimen Eﬁa@t‘iﬁ DENEY HBwow esaranid BobrBE® EHfPkn.

Options:

Both (A) and (R) are correct and (R ) 1s the correct explanation of (A)

e @ $0B85m en HBwowHR. (R) S5 (A) HBwond S8

Both (A} and (R are correct but (R) 1s NOT the correct explanation of (A)

2. %

(A) 1s correct but (R) is not correct

3 % (A) 2:3)8°0 (R) &)

(A) $0Bcin Botir HBmondd 520 (RISH (A) $8wond S8 50



(A) 1s not correct but (R) 1s correct
(A) éé’fgﬂ s=a) (R) &E’%
4. %

Question Number : 137 Question Id : 27028216166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which historian 1s famous for his research on Ancient Indian History?

% (808 SBEHE’ S (@D rBSBY $BER Japden?
Options :

Satish Chandra

$BR Solts

Bipan Chandra
DS Sols

2. # N
Ram Sharan Sharma
e €8S €8

3. . ¥
Amalesh Tripaths

L O5OR @0
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Arrange the steps of doing historical research 1n its right order:
%B@0nd ﬁge:a;.meﬁﬁ 3BBH68°oSEHD @nE) DA FoEgEweR Lécﬁaaﬁgaeﬁﬁ
(a7eadnain.
1. Isolate the problem
SIASIE) SHBahsn
2. Collect source materials

eprdanedn SEri)

3. Evaluate source materials
©8oDd sprdiinei &‘ﬁh@zﬁiﬁzﬁn
4, Formulate hypotheses

B8 SeBEBoSES

5. Report and interpret findings

Options:

. x 14235

2. 13,45
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Discourse analysis in historical research 1s associated with

3OS HBSEHE® S8y DT IHBS® FwhHECH
Options:

Carr
1. % EFE

Foucault
-

Hobsbawn

PR
oJPe o]
(%)

Skinner
?:@B’:J“E
[
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Match List-I with List-II and select the correct option given below,

D3 & 8%55 23883554 Hoeand JHrEEdsn B Ros.

List-IList-11

02 03
) )

1. Mendeley a. Quantitative data analysis
Eelnls ey AL

2 SPSS b.Reference manager
09R. 9. 00R.6HD B58Q) haesb

3 Turnitin ¢. Plagiarism check
esBOBS TBgniy BUDEPE

4. Nvivo d. Quanlitative data analysis
AOS oee)E DFses

Options :

1.41-13. g 3-8 A4—d

> % 1-d, 2-a, 3-¢ 4-0
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Training in which of the following are necessary for the job of collecting and managing
written sources of history?

TOBY prbined SHErinEHEs Hodn aH FEHESE08
& [Bob aBE° Qo SB|S SO VapHB SokiDB

Options :

Knowledge of scripts like Brahmi, Modi, Persian. and their development

@}Ejﬁé, P&, é@pﬁ:ﬁ Fnderd grhaosd (ahndd 872 06650 @) é&%
©oNid AHD b @SS SOA Gowed

1. #
Knowledge of types of paper. mk. and colours
seAssm, woe 0Bdm Yorhe R edrirs 500 somd
2. #
Knowledge of various schools and styles of art. and their development
. E¥en B DD D) @) B S0 A% H8 odrsed SR somd
3.
Writing research reports and articles
SB(E 58S PG b ©PES) D wIrEES  Gowed
4.¢
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Match the following

& (B0 a0 2N

List-1 List-IT
(1S (1S
[+ [+4]
1. History of India a. K. A. Nikantha Sastry
856 w9 =obair 2.0.00%08 =%
2. History of Medieval India b. Bipan Chandra
S0 8y HESS molcir A0S SolEs
3. History of Modern India ¢. Romila Thapar
20 @5 IS moldire b grHb
4. History of South India d. Satish Chandra
S0 89 TS moddie BHR Kol
Options :
1% 1-b, 2-a, 3-d, 4-¢
l-e, 2-d. 3-b. 4-a
2. ¢
l-e. 2-d. 3—a, 4-b
3. %
4 % 1-d, 2-¢. 3-b, 4-a
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Subaltern studies as historiographical trend started in India in.

35615 HB8°5H Boros® Kbarl@S ‘Q&E’ QP (ErBogiHod

Options :



1960s

1960 |Frostns’
1. %
1980s
, o 1980 Brosdzns’
1970s
1970 [ZrosSn&?
3. %
1990s
1990 |gRosHn e’
4. ®
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He)

Who 1s the author of "From the Founding of the City"”

Bo0 Frolh ap & 7 @ (Ko Bdons &th?

Options :
Cicero
2,258
1. %
Livy
&)



Polybius

.« FDABFE
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which historiography 1s also called as the Church Historiography?

D B|BE BB $6) SHBE DT Dendktd
Options :

Modem
e3tnAB

1. #

Ancient

BRAL

Classical

Po(RTPcD
3. #

Medieval

Sotsscsols
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Question Number : 146 Question Id : 27028216175 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The first modern historian

TntsB esc0DE SB|BBH

Options :

Ranke

1. U‘:'Dé

Hegel

Eiala]
2. %

Spengler

Eelats]
3.8 %

Toynbee.
4 % EPOTPRE)

Question Number : 147 Question Id : 27028216176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which historian criticized the periodization in history?

& SBEsethth SBES” sHHHHN HFGoB
Options :

1.4



Marc Bloch
56) B

Bury

B

Descartes
o505

Vico.
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Question Number : 148 Question Id : 27028216177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Who amongst the following propounded of cyclical theory of social change?

Jroa0E FrEnS® SBcd DEpodsntd 2P (Hartowetd

Options :
Spencer
B LG]
1. %
Comte
5°63)
[+



Marx

- éﬁE@

Spengler

oib
4.4 ©

Question Number : 149 Question Id : 27028216178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The theory of challenge and response was propounded by

‘chgcé‘u’m $BA5 (H&N0EH * @i oA S (HEHoT
Options :

Ranke
oLle)=]

Spengler
)oisb

Toynbee
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Question Number : 150 Question Id : 27028216179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What 1s “Post-Modernism™?

09t500% ©HoSrSEn @Sroh
Options:

A term used to describe contemporary cultural producton
SoseDd o) BE 5 DEBEBoIENE SHAFADS HBgER

1. %

A literary movement concerned with extreme self-reflexivity

© grap &i5Eoam DSBS Bch BRE) DB Hey HomodEn IrEHEO
2. %

An attempt to break down the barriers between high and low culture
- B30 ndcin BB0LA Jode D e SHTE 28 (HoHE:m

All of the above
20 Janid HAfoe
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